of® 42 3 vfsto] 9 2 Wl o] 4:0] 2 ujxc} 2.
& Qe 4k 25 9 Aj91A] Petelel.

e il

ol &

7=

ol £42 x 2 otu
3x—-9<2x

x<9

wabA 1, 3, 5, 7

= 4 7ol




B2 A3t 84 A, 68 Aol

=24

sfolat,

A 7

> 82

84 4+ 68 + x
T x>9




3 ARl 1000 90 91 el @ Aol 1009121 A=t & Aol 5009
Q) 288 5712 Yoou stk 24 Fo] 7000 Y olsht =
stelwl AbRS Ad) 2 A 4 4 A Tstelel,

| = 7N

> " 3574

~&B

Ayere] g ol 2k s,
100x + (500 x 5) + 1000 < 7000

100x < 3500

x <35

b, AP F o 35 70 742 A 4= 9L




ol A 3olA 20 W ol4Fe] BAE 1 T, 40 T o4 BAIE
e QARolA Felstel Zrha gk, 20 Wol4d 40 ¥ w5l A
2 o ool 40 O] YFBL AR R0l FTA otofel,
> = o’y

A7 52 x b ot 1 A 2FL o Polet B, ax0.8x40 <
ax0.9xx

320 5
x> — = 35§




O

©7F 4000 ‘ﬂo =08 7] 20% & &elste] otk 97ke] 10%
o olol& doe Bt F7re] MelE Fstofet

> = gd

> = 55009

B ~
374 xlolet 5
0.8x — 4000 > 0.1 x 4000
0.8x > 4400
. x> 5500




